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OPERACIONES COMBINADAS CON NUMEROS
ENTEROS (Z)

PRACTICA

| PARTE. Desarrolle los siguientes problemas.

1) (2° +(-9)) = ((—10) — (-5)) x (-2) 4 ((9 — (—6)) = (-5)+5) x 2°
3" +3%x(5-10+(-8) . , .2

2) (=3) X (—38)) 5) (4+(2—(=3)+(-9))) x (—10)
(=7) % ((—8) — (—6) + 8+ (-2)° AN LD (T v

3) ( ) 6) ((-10)+2 - (=-7)) x (i 3) .‘-_'J)
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1)

(22 +

DESARROLLO

(2* +(=9)) +((-10) - (=5)) x (-2)

(=9)) +((=10) - (=5)) x (-2)

= (44(=9) + (-10) = (-5)) x (-2)
=(-5) % ((=10) - (-5)) x (-2)
=(=5)+ (=5) x (-2)

=1x(-2)

=_2

2)

3)

(-3)" =3 x (5— 10+ (—8))

(-3) +3 x (510 +(-8))
— (=32 +3x ([—5] + {—EI})
=(-3)" +3x(-13)
=9_:>< (—13)

=3 x (~13)

-39

(=7) % ((-8) - (-6) +8+ (-2)")

(=7) x ({—B} —(—6) +B+ﬁ)
x ((-8)~(-6)+8=(-8))
x({ 8) — (=6) +(-1))
(
(=7) x (=3)

=(-7)

4)

5)

6)

((9 — (—6)) = (—5) +5) x 2?

((0-(-6)+(-5)+5) x2*
= (15+ (-5 +5) x 2*

(=3) + 5) x 23
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=16

% (—10)*

—

4+(2-(-3)+(-9))

(45 (2-(-3)+(=9))) x (-10?
(4 (5+(-9))) x (~10
(45 (-4)) x (-10)?
=(-1) x (-10)*

= (~1) x 100




